
MATHS

BOOKS - NCERT EXEMPLAR

EXPONENTS AND POWERS

Solved Examples

1. Which of the following numbers is not equal to 

A. 

B. 

C. 

D. None of the above

Answer: B

?
−8

27

−( )
32

3

( )
3−2

3

−( )
3−2

3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QLituYh2x0Wf


Watch Video Solution

2.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 7)5 × ( − 7)3

( − 7)8

−(7)8

( − 7)15

( − 7)2

3. For any two non zero integers x and y  is equal to

Watch Video Solution

x3 ÷ y3

https://dl.doubtnut.com/l/_QLituYh2x0Wf
https://dl.doubtnut.com/l/_TgBM3lIfXnuC
https://dl.doubtnut.com/l/_MGBBV5ntrjeg
https://dl.doubtnut.com/l/_KOLD8dB2LE3i


4. Evaluate:
 ____________

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(57 ÷ 56)
2

=

51

54

53

52

5. Evaluate:
 _________

Watch Video Solution

=
a7b3

a5b

6. State True or False:
 In the number  , 5 is the base and 7 is the

exponent.

75

https://dl.doubtnut.com/l/_KOLD8dB2LE3i
https://dl.doubtnut.com/l/_Wsy5lRK4Y5uV
https://dl.doubtnut.com/l/_Q735jeBsHqmd


Watch Video Solution

7. State True or False:


A. True

B. False

C. not sure

D. none of the above

Answer: B

Watch Video Solution

=
a4

b3

a + a + a + a

b + b + b

8. State True or False:
  is true. If a=3 and b=4, but false if a=2

and b=3.

Watch Video Solution

ab > ba

https://dl.doubtnut.com/l/_Q735jeBsHqmd
https://dl.doubtnut.com/l/_u5zQUMQxLxLt
https://dl.doubtnut.com/l/_NdXvdVE6sEOM


9. By what number should we multiply  so that the product may be

equal to ?

A. 81

B. 61

C. 243

D. 31

Answer: A

Watch Video Solution

33

37

10. Find x so that 

Watch Video Solution

( )
5

× ( )
11

= ( )
8x

5

3

5

3

5

3

https://dl.doubtnut.com/l/_TGzHo5oqXGYM
https://dl.doubtnut.com/l/_xrzTQ4ncvkFe


11. Express 648 in exponential notation.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

23 × 33

23 × 34

22 × 34

24 × 33

12. Express 2,36,00,000 in standard form.

Watch Video Solution

13. Which of the two is larger :  or ?

h id l i

312 66

https://dl.doubtnut.com/l/_EGFkvr3sfSqP
https://dl.doubtnut.com/l/_9CS4te65ZqNQ
https://dl.doubtnut.com/l/_LJYoWWkeA8pz


Think And Discuss

Watch Video Solution

14. Find x such that 

Watch Video Solution

× =
1

55

1

519

1

58x

1. 



Try to find the value of x given in the question by changing  to .

What difference do you find the value of ? What do you infer from

your answer?

Watch Video Solution

( )
5

× ( )
19

= ( )
8x1

5

1

5

1

5
1

5

3

2

x

2. Can you find the value of x if the equation is changed to

?(5)x ÷ (5)2 = (5)3

https://dl.doubtnut.com/l/_LJYoWWkeA8pz
https://dl.doubtnut.com/l/_t3VuKBHZDNYg
https://dl.doubtnut.com/l/_540kxWm3Zcy8
https://dl.doubtnut.com/l/_R5NTRChOPMyh


Watch Video Solution

3. Explain why the exponents cannot be added in the product

.

Watch Video Solution

143 × 183

4. List two ways to express  as a product of powers.

Watch Video Solution

45

5. Explain the difference between  and 

Watch Video Solution

( − 5)2 −(5 × 5)

6. Compare  and 3 × 2, 32 23

https://dl.doubtnut.com/l/_R5NTRChOPMyh
https://dl.doubtnut.com/l/_uDxBNum2okNV
https://dl.doubtnut.com/l/_0SwfRrgdX9oe
https://dl.doubtnut.com/l/_PeQVA7naxWcC
https://dl.doubtnut.com/l/_WWe9gjligKHi


Exercise

A.  <  < 

B.  <  > 

C.  >  > 

D. None of the above

Answer: C

Watch Video Solution

32 23 3 × 2

32 23 3 × 2

32 23 3 × 2

7. Show that  is not equal to 

Watch Video Solution

(4 − 11)2 42 − 112

1.  is equal to[( − 3)2]
3

https://dl.doubtnut.com/l/_WWe9gjligKHi
https://dl.doubtnut.com/l/_xA5xERwJHKev
https://dl.doubtnut.com/l/_m29gywfX1T6D


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( − 3)8

( − 3)6

( − 3)5

( − 3)23

2. For a non zero rational number  is equal to

A. 

B. 

C. 

D. 

Answer:

x, x8 ÷ x2

x4

x6

x10

x16

https://dl.doubtnut.com/l/_m29gywfX1T6D
https://dl.doubtnut.com/l/_rdk5K2TQiFAF


Watch Video Solution

3. x is non a zero rational number. Product of the square of x with the

cube of x is equal to the

A. second power of x

B. third power of x

C. fifth power of x

D. sixth power of x

Answer: C

Watch Video Solution

4. For any two non zero rational numbers x and y,  is equal to

A. 

x5 ÷ y5

(x ÷ y)1

https://dl.doubtnut.com/l/_rdk5K2TQiFAF
https://dl.doubtnut.com/l/_LDr46dfAPelu
https://dl.doubtnut.com/l/_rtL5ZSqFCgmX


B. 

C. 

D. 

Answer:

Watch Video Solution

(x ÷ y)0

(x ÷ y)5

(x ÷ y)10

5.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

am × an

(a2)
mn

am− n

am+ n

amn

https://dl.doubtnut.com/l/_rtL5ZSqFCgmX
https://dl.doubtnut.com/l/_Efwc1hXUPEgk


6.  is equal to

A. 0

B. 1

C. 3

D. 6

Answer: C

Watch Video Solution

(1∘ + 2∘ + 3∘ )

7. Value of  is

A. 10

B. 

C. 

1022 + 1020

1020

1042

101

https://dl.doubtnut.com/l/_Efwc1hXUPEgk
https://dl.doubtnut.com/l/_c2Uxl0HSnWK8
https://dl.doubtnut.com/l/_i6oOnB90wrt7


D. 

Answer: C

Watch Video Solution

1022

8. The standard form of the number 12345 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1234.5 × 101

123.45 × 102

12.345 × 103

1.2345 × 104

https://dl.doubtnut.com/l/_i6oOnB90wrt7
https://dl.doubtnut.com/l/_Ftzt5GKM6NOb


9. 

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

21998 − 21997 − 21996 + 21995 =  K.21995

10. Which of the following is equal to 1?

A. 

B. 

C. 

2∘ + 3∘ + 4∘

2∘ × 3∘ × 4∘

(3∘ − 2∘ ) × 4∘

https://dl.doubtnut.com/l/_UcrtuVipGKoo
https://dl.doubtnut.com/l/_5wixmnC2adiG


D. 

Answer: B

Watch Video Solution

(3∘ − 2∘ ) × (3∘ + 2∘ )

11. In standard form, the number 72105.4 is written as 

where n is equal to

A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

7.21054 × 10n

https://dl.doubtnut.com/l/_5wixmnC2adiG
https://dl.doubtnut.com/l/_Ivz7fam2iZgN
https://dl.doubtnut.com/l/_Cf9nm8i2xZL4


12. Square of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
−2

3

−2

3

2

3

−4

9

4

9

13. Cube of  is

A. 

B. 

C. 

D. 

( )
−1

4

−1

12

1

16

−1

64

1

64

https://dl.doubtnut.com/l/_Cf9nm8i2xZL4
https://dl.doubtnut.com/l/_VIitnQ8sHC1L


Answer: C

Watch Video Solution

14. Which of the following is not equal to ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( )
4−5

4

( − 5)
4

44

54

( − 4)4

−
54

44

( − ) × ( − ) × ( − ) × ( − )
5

4

5

4

5

4

5

4

15. Which of the following is not equal to 1?

https://dl.doubtnut.com/l/_VIitnQ8sHC1L
https://dl.doubtnut.com/l/_Eb6MwruLEdgS
https://dl.doubtnut.com/l/_lCt019r7LpAR


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

23 × 32

4 × 18

[( − 2)3 × ( − 2)4] ÷ ( − 2)7

3∘ × 53

5 × 25

24

(7∘ + 3∘ )3

16.  is equal to

A. 

B. 

C. 

D. 

Answer: C

( )
3

× ( )
3

2

3

5

7

( × )
92

3

5

7

( × )
6

2

3

5

7

( × )
32

3

5

7

( × )
∘2

3

5

7

https://dl.doubtnut.com/l/_lCt019r7LpAR
https://dl.doubtnut.com/l/_MdveKNTptuxT


Watch Video Solution

17. In standard form, the number 829030000 is written as 

where K is equal to

A. 82903

B. 829.03

C. 82.903

D. 8.2903

Answer:

Watch Video Solution

K × 108

18. Which of the following has the largest value?

A. 0.001

https://dl.doubtnut.com/l/_MdveKNTptuxT
https://dl.doubtnut.com/l/_F8TSZfg5kg2o
https://dl.doubtnut.com/l/_Ob25YpVH1Y90


B. 

C. 

D. 

Answer: A

Watch Video Solution

1

10000

1

106

÷ 0.1
1

106

19. In standard form 72 crore is written as

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

72 × 107

72 × 108

7.2 × 108

7.2 × 107

https://dl.doubtnut.com/l/_Ob25YpVH1Y90
https://dl.doubtnut.com/l/_r1H7nhLwsvCD


20. For non zero numbers a and b , where , is

equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( )
m

÷ ( )
na

b

a

b
m > n

( )
mna

b

( )
m+ na

b

( )
m− na

b

(( )
m

)
na

b

21. Which of the following is not true?

A. 

B. 

32 > 23

43 = 26

https://dl.doubtnut.com/l/_r1H7nhLwsvCD
https://dl.doubtnut.com/l/_Z82E8eacq1rS
https://dl.doubtnut.com/l/_MWjXnSMQJ8vJ


C. 

D. 

Answer:

Watch Video Solution

33 = 9

25 > 52

22. Which power of 8 is equal to ?

A. 3

B. 2

C. 1

D. 4

Answer: B

Watch Video Solution

26

https://dl.doubtnut.com/l/_MWjXnSMQJ8vJ
https://dl.doubtnut.com/l/_HM2H8wrZwtXs
https://dl.doubtnut.com/l/_5TDmleGtqirK


23. Evaluate:


Watch Video Solution

( − 2)31 × ( − 2)13 =

24. ______________

Watch Video Solution

( − 3)8 ÷ ( − 3)5 = ( − 3)

25. Fill in the blanks:


Watch Video Solution

( )
4

× (___________)5 = ( )
911

15

11

15

26. Fill in the blanks:
 ________

Watch Video Solution

( )
3

× ( )
−1

4

−1

4
= ( )

11
−1

4

https://dl.doubtnut.com/l/_5TDmleGtqirK
https://dl.doubtnut.com/l/_bNxV79H2Zxjr
https://dl.doubtnut.com/l/_cVpEicxfKg7f
https://dl.doubtnut.com/l/_IkYfDtSGn20v


27. Simplify:


Watch Video Solution

[( )
3

]

4

=
7

11

28. Evaluate:


Watch Video Solution

( )
10

÷ [( )
5

]

2

=
6

13

6

13

29. Evaluate:


Watch Video Solution

[( )
16

]

2

=
−1

4

30. Evaluate : 

Watch Video Solution

( )
5

÷ ( − − − − − − − − )
2

= ( )
313

14

13

14

https://dl.doubtnut.com/l/_NcyNfHGjG7Yd
https://dl.doubtnut.com/l/_3cdcHlzgT0ai
https://dl.doubtnut.com/l/_owmX01F9pITV
https://dl.doubtnut.com/l/_PeE2LCVJq9CP


31. Evaluate :


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a6 ⋅ a6 ⋅ a0 =

a12

a36

a0

a6

32. 1 lakh _______________

Watch Video Solution

= 10

33. 1 million __________

h id l i

= 10

https://dl.doubtnut.com/l/_mVMgFryeCmGE
https://dl.doubtnut.com/l/_Vl503jaLpElJ
https://dl.doubtnut.com/l/_XyODhTYNlGu0


Watch Video Solution

34. Fill in the blanks:
 ____________

Watch Video Solution

729 = 3

35. Fill in the blanks :
 ___

Watch Video Solution

432 = 24 × 3

36. 

Watch Video Solution

53700000 = − − − − − × 107

37. 

Watch Video Solution

88880000000 = − − − − × 1010

https://dl.doubtnut.com/l/_XyODhTYNlGu0
https://dl.doubtnut.com/l/_A0u3EVWjbdPZ
https://dl.doubtnut.com/l/_BAUPXQUhzLVq
https://dl.doubtnut.com/l/_U4GTIMAu2w1A
https://dl.doubtnut.com/l/_ciaVbSZdItfz


38. 2.75times10^( ___________ )`

Watch Video Solution

27500000 =

39. Find x :


Watch Video Solution

340900000 = 3.409 × 10x

40. Fil in the blanks with  or = sign 


Watch Video Solution

< , >

32 __ __ 15

41. Fil in the blanks with  or = sign 


Watch Video Solution

< , >

23 __ __ __ __ _ 32

https://dl.doubtnut.com/l/_ciaVbSZdItfz
https://dl.doubtnut.com/l/_SNcdwcjaZkEq
https://dl.doubtnut.com/l/_dyUqiKkcXjMY
https://dl.doubtnut.com/l/_QXJVCCg32KJB
https://dl.doubtnut.com/l/_PmAqf6VRY1Pg


Watch Video Solution

42. Fil in the blanks with  or = sign 


Watch Video Solution

< , >

74 __ __ __ _ 54

43. Fil in the blanks with  or = sign 


Watch Video Solution

< , >

10, 000 − − − − − − − − − 105

44. Fil in the blanks with  or = sign 


Watch Video Solution

< , >

63 __ __ __ _ 44

https://dl.doubtnut.com/l/_PmAqf6VRY1Pg
https://dl.doubtnut.com/l/_bVX3ubWCqwCS
https://dl.doubtnut.com/l/_iMmSwqv6xe7z
https://dl.doubtnut.com/l/_2l0zxvbDSeiG


45. State True or False :
One million 

Watch Video Solution

= 107

46. State True or False :
One hour  seconds

Watch Video Solution

= 602

47. State True or False :


Watch Video Solution

1∘ × 01 = 1

48. State True or False :


Watch Video Solution

( − 3)4 = − 12

https://dl.doubtnut.com/l/_1zr94eR6g8Ap
https://dl.doubtnut.com/l/_uIWwBqsxm9oV
https://dl.doubtnut.com/l/_tdstAV9w5UMf
https://dl.doubtnut.com/l/_zR6PbVSWAWNI


49. State True or False :


Watch Video Solution

34 > 43

50. State True or False :


Watch Video Solution

=
−3

5100

−3100

−5100

51. State True or False :


Watch Video Solution

(10 + 10)
10

= 1010 + 1010

52. State True or False :
  is true for all non zero

values of x.

Watch Video Solution

x ∘ × x ∘ = x ∘ ÷ x ∘

https://dl.doubtnut.com/l/_RQ4Rbc7xFASv
https://dl.doubtnut.com/l/_IiaRCrahINRF
https://dl.doubtnut.com/l/_hKf5kvKXLqJ0
https://dl.doubtnut.com/l/_8kAAq5bYOgny


53. standard form a number is said to be in the standard form if it is

expressed as the product of a number between 1 and 10 (including 1

but excluding 10

Watch Video Solution

54. State True or False :
  is greater than .

Watch Video Solution

42 24

55. State True or False :
 , where x is a non zero

rational number and m is a positive integer.

Watch Video Solution

xm + xm = x2m

https://dl.doubtnut.com/l/_uK3zn8YfZDF0
https://dl.doubtnut.com/l/_0MJXeCHVEZs6
https://dl.doubtnut.com/l/_RQSIrj6rL6D8


56. State True or False :
 , where x and y are

non zero rational numbers and m is a positive integer.

Watch Video Solution

xm × ym = (x × y)2m

57. , where x and y are non zero rational

numbers and m is a positive integer.

Watch Video Solution

xm ÷ ym = (x ÷ y)m

58. , where x is a non zero rational number and m,n

are positive integers.

Watch Video Solution

xm × xn = xm+ n

59. State True or False :
  is greater than 49 163

https://dl.doubtnut.com/l/_dfnJOwKoNLgW
https://dl.doubtnut.com/l/_Kfvt15pUbSZK
https://dl.doubtnut.com/l/_OCWMoDvGws8S
https://dl.doubtnut.com/l/_dJXppq6O75p4


Watch Video Solution

60. State True or False :


Watch Video Solution

( )
3

÷ ( )
3

= 1
2

5

5

2

61. State True or False :


Watch Video Solution

( )
5

× ( )
5

= ( + )
5

4

3

5

7

4

3

5

7

62. State True or False :


Watch Video Solution

( )
9

÷ ( )
4

= ( )
45

8

5

8

5

8

63. State True or False :


W t h Vid S l ti

( )
2

× ( )
5

= ( )
10

7

3

7

3

7

3

https://dl.doubtnut.com/l/_dJXppq6O75p4
https://dl.doubtnut.com/l/_XDSEwaJmG3eb
https://dl.doubtnut.com/l/_YqTS4y0VkJtt
https://dl.doubtnut.com/l/_X6lYvyAetF7z
https://dl.doubtnut.com/l/_dGt05rcE6FTD


Watch Video Solution

64. State True or False :


Watch Video Solution

5∘ × 25∘ × 125∘ = (5∘ )
6

65. State True or False :

Watch Video Solution

876543 = 8 × 105 + 7 × 104 + 6 × 103 + 5 × 102 + 4 × 101 + 3 × 10∘

66. State True or False :


Watch Video Solution

600060 = 6 × 105 + 6 × 102

67. State True or False :

4 × 105 + 3 × 104 + 2 × 103 + 1 × 10∘ = 432010

https://dl.doubtnut.com/l/_dGt05rcE6FTD
https://dl.doubtnut.com/l/_Pt9kM9bVcl4W
https://dl.doubtnut.com/l/_UVVLYI91cAi6
https://dl.doubtnut.com/l/_3ITmkJpL0hnP
https://dl.doubtnut.com/l/_YZnXGCSr0KCd


Watch Video Solution

68. State True or False :

Watch Video Solution

8 × 106 + 2 × 104 + 5 × 102 + 9 × 10∘ = 8020509

69. State True or False :


Watch Video Solution

4∘ + 5∘ + 6∘ = (4 + 5 + 6) ∘

70. Arrange in ascending order: 

Watch Video Solution

25, 33, 23 × 2, (33)
2
, 35, 4∘ , 2381

https://dl.doubtnut.com/l/_YZnXGCSr0KCd
https://dl.doubtnut.com/l/_vQu0YCYAN6ru
https://dl.doubtnut.com/l/_4RgjGYo86rTD
https://dl.doubtnut.com/l/_rqfnaBKkLXIm


71. Arrange in descending order: 

Watch Video Solution

22 + 3, (22)
3
, 2 × 22, , 32 × 3∘ , 23 × 5235

32

72. By what number should  be divided so that the quotient

may be equal to ?

Watch Video Solution

( − 4)
5

( − 4)
3

73. Find m so that 

Watch Video Solution

( )
3

× ( )
6

= ( )
2m− 12

9

2

9

2

9

74. If , find the value of 

Watch Video Solution

= ( )
2

÷ ( )
∘

p

q

3

2

9

4
( )

3
p

q

https://dl.doubtnut.com/l/_Mx35v6iVTTVc
https://dl.doubtnut.com/l/_fkPHMrM9oAcg
https://dl.doubtnut.com/l/_ageP22JFkinN
https://dl.doubtnut.com/l/_z3fiqETHLmvJ


Watch Video Solution

75. Find the reciprocal of the rational number 

Watch Video Solution

( )
2

÷ ( )
31

2

2

3

76. Find the value of : 

Watch Video Solution

7∘

77. Find the value of : 

Watch Video Solution

77 ÷ 77

https://dl.doubtnut.com/l/_z3fiqETHLmvJ
https://dl.doubtnut.com/l/_jlI6DUdcmRqI
https://dl.doubtnut.com/l/_QQIzyocebMWs
https://dl.doubtnut.com/l/_QRW3CwnWplGE


78. Find the value of : 

Watch Video Solution

( − 7)2 × 7 − 6 − 8

79. Find the value of : 

Watch Video Solution

(2∘ + 3∘ + 4∘ )(4∘ − 3∘ − 2∘ )

80. Find the value of : 

Watch Video Solution

2 × 3 × 4 ÷ 2∘ × 3∘ × 4∘

https://dl.doubtnut.com/l/_tiWSCEA9jKLV
https://dl.doubtnut.com/l/_v49OZGCGk3z3
https://dl.doubtnut.com/l/_1ZtEluETTWat


81. Find the value of : 

Watch Video Solution

(8∘ − 2∘ ) × (8∘ + 2∘ )

82. Find the value of n, where n is an integer and

Watch Video Solution

2n − 5 × 62n − 4 =
1

124 × 2

83. Express the following in usual form: 

Watch Video Solution

8.01 × 107

https://dl.doubtnut.com/l/_0YNH1YVMJxBP
https://dl.doubtnut.com/l/_P0a9qrpRuuaJ
https://dl.doubtnut.com/l/_lf540VRMbGLS


84. Express the following in usual form: 

Watch Video Solution

1.75 × 10− 3

85. Find the value of 

Watch Video Solution

25

86. Find the value of 

Watch Video Solution

( − 35)

https://dl.doubtnut.com/l/_BjT1t7scZZjJ
https://dl.doubtnut.com/l/_XV97ZsTXak2s
https://dl.doubtnut.com/l/_kYxhh1piefq9


87. Find the value of 

Watch Video Solution

( − 4)4

88. Express the following in exponential form: 

Watch Video Solution

3 × 3 × 3 × a × a × a × a

89. Express the following in exponential form: 

Watch Video Solution

a × a × b × b × b × c × c × c × c

https://dl.doubtnut.com/l/_sdR9k5iINKtF
https://dl.doubtnut.com/l/_Awpr2xSN6pDk
https://dl.doubtnut.com/l/_VuBdtrNj16yG


90. Express the following in exponential form: 

Watch Video Solution

s × s × t × t × s × s × t

91. How many times of 30 must be added together to get a sum

equal to ?

Watch Video Solution

307

92. Express each of the following numbers using exponential

notations: 

1024

Watch Video Solution

https://dl.doubtnut.com/l/_f0LnLfTQ3dlC
https://dl.doubtnut.com/l/_d82Ici4dgw90
https://dl.doubtnut.com/l/_pX3kzHk8RsLR


93. Express each of the following numbers using exponential

notations: 

1029

Watch Video Solution

94. Express each of the following numbers using exponential

notations: 

Watch Video Solution

144

875

95. Identify the greater number in each of the following 

 or 

Watch Video Solution

26 62

https://dl.doubtnut.com/l/_SMqxH51HgSTF
https://dl.doubtnut.com/l/_oRKz7DSxHIE7
https://dl.doubtnut.com/l/_PyLRII5jtG83
https://dl.doubtnut.com/l/_Wx9FiejQkpIu


96. Identify the greater number in each of the following 

 or 

Watch Video Solution

29 92

97. Identify the greater number in each of the following 

 or 

Watch Video Solution

7.9 × 104 5.28 × 105

98. Express each of the following as a product of powers of their

prime factors: 

9000

Watch Video Solution

https://dl.doubtnut.com/l/_Wx9FiejQkpIu
https://dl.doubtnut.com/l/_w77OKZLVMfnY
https://dl.doubtnut.com/l/_U0jrGwfiHgPm


99. Express each of the following as a product of powers of their

prime factors: 

2025

Watch Video Solution

100. Express each of the following as a product of powers of their

prime factors: 

800

Watch Video Solution

101. Express each of the following in single exponential form: 

Watch Video Solution

23 × 33

https://dl.doubtnut.com/l/_cE9i0fKRrMxT
https://dl.doubtnut.com/l/_0QJLCwwRF9Q5
https://dl.doubtnut.com/l/_B23qOu3g6QHg
https://dl.doubtnut.com/l/_iJKwnDhoLTyQ


102. Express each of the following in single exponential form: 

Watch Video Solution

24 × 42

103. Express each of the following in single exponential form: 

Watch Video Solution

52 × 72

104. Express each of the following in single exponential form: 

Watch Video Solution

( − 5)5 × ( − 5)

105. Express each of the following in single exponential form: 

( − 3)3 × ( − 10)3

https://dl.doubtnut.com/l/_iJKwnDhoLTyQ
https://dl.doubtnut.com/l/_HvlSJQrsvwQh
https://dl.doubtnut.com/l/_cZZfRIHrHkL3
https://dl.doubtnut.com/l/_5bZLEMfTcJSz


Watch Video Solution

106. Express each of the following in single exponential form: 

Watch Video Solution

( − 11)2 × ( − 2)2

107. Express the following numbers in standard form: 

76,47,000

Watch Video Solution

108. Express the following numbers in standard form: 

8,19,00,000

Watch Video Solution

https://dl.doubtnut.com/l/_5bZLEMfTcJSz
https://dl.doubtnut.com/l/_SOzhzCKKHQEv
https://dl.doubtnut.com/l/_gWs4sth151fC
https://dl.doubtnut.com/l/_FhKdufJCNZST
https://dl.doubtnut.com/l/_SB5amG9oyHQN


109. Express the following numbers in standard form: 

5,83,00,00,00,000

Watch Video Solution

110. Express the following numbers in standard form: 

24 billion

Watch Video Solution

111. The speed of light in vacum is m/s. Sunlight takes about 8

minutes to reach the earth. Express distance of Sun from Earth in

standard form.

Watch Video Solution

3 × 108

https://dl.doubtnut.com/l/_SB5amG9oyHQN
https://dl.doubtnut.com/l/_JMmkLDmzwlEQ
https://dl.doubtnut.com/l/_VmpErCX4PewE


112. Simplify and express each of the following in exponential form: 

Watch Video Solution

[( )
4

× ( )
5

] ÷ ( )
73

7

3

7

3

7

113. Simplify and express each of the following in exponential form: 

Watch Video Solution

[( )
5

÷ ( )
2

] × ( )
2

7

11

7

11

7

11

114. Simplify and express each of the following in exponential form: 

Watch Video Solution

(37 ÷ 35)
4

https://dl.doubtnut.com/l/_KeCVKBXyTVRu
https://dl.doubtnut.com/l/_OdxZucnzoCl7
https://dl.doubtnut.com/l/_dJFI9HAMSBL9


115. Simplify and express each of the following in exponential form: 

Watch Video Solution

( ) × a5 × a ∘a6

a4

116. Simplify and express each of the following in exponential form: 

Watch Video Solution

[( )
3

× ( )
8

] ÷ [( )
2

× ( )
4

]
3

5

3

5

3

5

3

5

117. Simplify and express each of the following in exponential form: 

Watch Video Solution

(515 ÷ 510) × 55

https://dl.doubtnut.com/l/_SJPWOWzUeHTk
https://dl.doubtnut.com/l/_ciGRxZHJyNEb
https://dl.doubtnut.com/l/_ej6UXqjzMTrA


118. Evaluate: 

Watch Video Solution

78 × a10b7c12

76 × a8b4c12

119. Evaluate: 

Watch Video Solution

54 × 74 × 27

8 × 49 × 53

120. Evaluate: 

Watch Video Solution

125 × 52 × a7

103 × a4

https://dl.doubtnut.com/l/_4AWXX8pTUaF2
https://dl.doubtnut.com/l/_Egp2jPr4Cs6O
https://dl.doubtnut.com/l/_MNp82psVo84H


121. Evaluate: 

Watch Video Solution

34 × 123 × 36

25 × 63

122. Evaluate: 

Watch Video Solution

( )
2

×
6 × 10

22 × 53

25

27

123. Evaluate: 

Watch Video Solution

154 × 183

33 × 52 × 122

https://dl.doubtnut.com/l/_cq6ysNeW3hE5
https://dl.doubtnut.com/l/_h9oB4Cshf1qE
https://dl.doubtnut.com/l/_gu9McZkn9zLJ


124. Evaluate: 

Watch Video Solution

64 × 92 × 253

32 × 42 × 156

125. Express the given information in Scientific notation (standard

form) and then arrange them is ascending order of their size. 

Watch Video Solution

126. Express the given information in Scientific notation and then

arrange them in descending order of their size. 

https://dl.doubtnut.com/l/_F1M9WrCjNpb9
https://dl.doubtnut.com/l/_42ft8k3KujM1
https://dl.doubtnut.com/l/_wfaUpj1VkZAa


Watch Video Solution

127. Write the number of seconds in scientific notaiton. 

Watch Video Solution

https://dl.doubtnut.com/l/_wfaUpj1VkZAa
https://dl.doubtnut.com/l/_OgmLAIlrjVaS


128. In our own planet Earth 361,419,000 square kilometre of area is

covered with waer and 148,647,000 square kilometre of area is

covered by land, find the approximate ratio of area covered with

water to area covered by land by converting these numbers into

scientific notation.

Watch Video Solution

129. If  find the value of c.

Watch Video Solution

2n + 2 − 2n + 2 − 2n + 1 + 2n = c × 2n

130. A light year is the distance that light can travel in one year. 

1 light year =9,460,000,000,000 km. 

a. Express one light year in scientific notation. 

b. The average distance between Earth and Sun is  km. Is

the distance between Earth and the Sun greater than, less than or

1.496 × 108

https://dl.doubtnut.com/l/_vr7kabEev5zo
https://dl.doubtnut.com/l/_8MiPMM6URdvf
https://dl.doubtnut.com/l/_WbokeXTulEa0


equal to one light year? 

Watch Video Solution

131. Geometry Application: The number of diagonals of n sided figure

is . Use the formula to find the number of diagonals for

a 6 sided figure (hexagon). 

(n2 − 3n)
1

2

https://dl.doubtnut.com/l/_WbokeXTulEa0
https://dl.doubtnut.com/l/_I82xV8O1Mpuh


Watch Video Solution

132. Life Science: Bacteria can divide in ever 20 minutes. So 1

bacterium can multiply to 2 in 20 minutes. 4 in 40 minutes, and so

on. How many bacterial will there be in 6 hours? Write your answer

using exponents, and then evaluate. 

Watch Video Solution

https://dl.doubtnut.com/l/_I82xV8O1Mpuh
https://dl.doubtnut.com/l/_w2ymRMfcfvZW


133. Blubber makes up 27 per cent of a blue whale's body weight.

Deepak found the average weight of blue whales and used it to

calculate the average weight of their blubber. He wrote the amount

as kg. Evaluate this amount. 


Watch Video Solution

22 × 32 × 5 × 17

134. Life Science Application: The major components of human blood

are red blood cells, white blood cells, platelets and plasma. A typical

https://dl.doubtnut.com/l/_2HzWJON9famy
https://dl.doubtnut.com/l/_QmeRGpANwDIA


red blood cell has a diamter of approximately  metres. A

typical platelet has a diameter of approximately  metre.

Which has a greater diameter a red cell or a platelet?

Watch Video Solution

7 × 10− 6

2.33 × 10− 6

135. A googol is the number 1 followed by 100 zeros. 

a. How is a googol written as a power? 

b. How is a googol times a googol written as a power?

Watch Video Solution

136. What's the error? 

A student said that  is the same as . What mistake has the

student made?

Watch Video Solution

35

95

1

3

https://dl.doubtnut.com/l/_QmeRGpANwDIA
https://dl.doubtnut.com/l/_LP6BHG0CLuS4
https://dl.doubtnut.com/l/_Bm4pVnzZ3ODD



